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WEEK 2 TASKS

Make sure you check your answers and show all your
working out. Try to make your work is well laid out and easy
to read — if the examiner cannot understand what you have

written they cannot award you any marks.

Have we said, “Show your working out”?



WEEK 2 TASK 1




&

Pearson

One Marker Starters

Includes Summer 2017 - Summer 2024 Exam Papers

...............................................................................................................................................................................................................................................

. . 3 3
Slmp|lfy m-+m Write 19.4949 correct to the nearest

whole number

...............................................................................................................................................................................................................................................

Write down the value of

the 2 in the number Work out the square root of 81
12 345 -

Complete the statement below Simplify 3 xa x4

to make it correct

...............................................................................................................................................................................................................................................

Here are four digits:
Write down a f f 60 N
rite down a factor o Write down the smallest 4-digit even

that is between 8 and 14 number that can be made using each
number only once

Change 40 centimetres
What is the time 2 hours 40 into millimetres
minutes after 8.05 am? »



WEEK 2 TASK 2
Estimated completion time = 30 minutes.




Answer all questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

The pictogram shows information about the number of chocolate cakes, vanilla cakes
and lemon cakes sold by Year 7 at a school fair.

Y YarYar Y N
| NIPANVANVANVANY, R
VarYarYarYa L/
anilla ‘\ /' \‘ j /' "\ / represents 12 cakes
Lemon i/—\. L

L/
Banana

24 banana cakes were sold by Year 7
(a) Use this information to complete the pictogram.

At the fair, Year 8 sold a total of 150 cakes.

(b) Which Year sold most cakes at the fair, Year 7 or Year 8?
You must show how you get your answer.

(Total for Question 1 is 4 marks)

7 -5 3 9 -2
Write these numbers in order of size.
Start with the smallest number.

Write 35% as a decimal.

(Total for Question 3 is 1 mark)
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Here is a grid of squares.

What fraction of the grid is shaded?

(Total for Question 4 is 1 mark)

Write the number three thousand one hundred and seven in figures.

(Total for Question 5 is 1 mark)

Here are the first four terms of a number sequence.
97 91 85 79

(a) Explain how to work out the next number of the sequence.

(b) Work out the difference between the 5th term and the 7th term of the sequence.

(Total for Question 6 is 3 marks)

Gabriel thinks of a number.

He multiplies his number by 5 and then adds 7
His answer is 72

What number did Gabriel think of?

(Total for Question 7 is 3 marks)
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8

The table shows the number of books read by four people in one month.

Person Number of books
Ximena 7

Martha 9

Kezia 1

Tabby 5

On the grid, draw a bar chart to show the information in the table.

(Total for Question 8 is 3 marks)

Spring 2024 — Aiming for Grade 1
© Pearson Education Ltd.



10

11

12

A travel agent sold 100 holidays in April.

Each of these holidays was in the UK or was abroad.

64 of the 100 holidays were sold to families.

The rest of the holidays were sold to couples.

11 of the 18 holidays abroad were sold to couples.
Use this information to complete the frequency tree.

families

couples

(Total for Question 9 is 3 marks)

.3
Write 0 as a percentage.

(Total for Question 10 is 1 mark)

Simplify m +m+m+m

(Total for Question 11 is 1 mark)

Write down a number that is less than —5
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(Total for Question 12 is 1 mark)



13

14

Here is a 4-sided spinner.

Samina spins the spinner once.

—/

Choose the word that best describes the probability that the spinner lands on a number less

than 4

impossible unlikely

cvens

likely certain

(Total for Question 13 is 1 mark)

Wayne begins walking at 8 30 am.

He walks for 1 hour and 45 minutes.

Wayne then rests for 15 minutes.

He then walks for 85 minutes to a cafe.
Does Wayne get to the cafe before 12 noon?
You must show how you get your answer.

Spring 2024 — Aiming for Grade 1
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(Total for Question 14 is 4 marks)



15  There are only red counters, blue counters and green counters in a bag.
number of red counters : number of blue counters : number of green counters =2 : 16 : 7
What fraction of the counters in the bag are green counters?

(Total for Question 15 is 2 marks)

TOTAL FOR PAPER IS 30 MARKS
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WEEK 2 TASK 3




&

Pearson

One Marker Starters

Includes Summer 2017 - Summer 2024 Exam Papers

...............................................................................................................................................................................................................................................

Write 0.73 as a percentage Change 0.32 kilograms

to grams

...............................................................................................................................................................................................................................................

Work out: 3 x5+7 Write 1—90 as a decimal

Write 1.59 correct to

. 0 1
Write 80% as a fraction 1 decimal place

...............................................................................................................................................................................................................................................

Write the following numbers in order of

Simplify 3f x 5g

size. Start with the smallest number

-6 6 -5 0 12

Write down.a square Write down the mathematical name for

10 and 50 \<




WEEK 2 TASK 4

Estimated completion time = 30 minutes.




Answer all questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

Max sees this special offer in a shop.

Buy one large plate and get one small plate for half the normal price.

The normal price of a large plate is £2
The normal price of a small plate is 80p

Max wants to buy 6 large plates and 6 small plates using this offer.
He has £15

Has Max got enough money?
You must show how you get your answer.

(Total for Question 1 is 4 marks)
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S J

Write down the coordinates of the midpoint of 4B.

(ceerreerreeeeneeieene ) eereerre e )
(Total for Question 2 is 1 mark)

There are 3 litres of oil in a can.
Jermaine uses 700 millilitres of the oil.

Work out the amount of oil left in the can.
Give your answer in millilitres.

...................................................... millilitres

(Total for Question 3 is 3 marks)
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4 (a) Work out the size of the angle marked x.

2)
A student says that an angle of 50° is an obtuse angle.
The student is wrong.
(b) Explain why.

1)

(Total for Question 4 is 3 marks)

5 Work out % of 300

(Total for Question 5 is 1 mark)

6 Selina has a bag of 22 counters.

5 of the counters are blue.
9 of the counters are red.
8 of the counters are pink.

Selina takes at random a counter from the bag.

Write down the probability that Selina does not take a pink counter,

(Total for Question 6 is 1 mark)
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7 Here is a list of numbers.
2 4 4 7 8

Work out the range of these numbers.

(Total for Question 7 is 1 mark)

8 Simplify ISTa

(Total for Question 8 is 1 mark)
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The scatter graph shows information about the ages and weights of some babies.

10 X

Weight %X X
(kg)

(=)}

()

0 2 4 6 8 10 12
Age (months)

(a) Describe the relationship between the age and the weight of the babies.

(1)
Another baby has a weight of 5.8 kg
(b) Using the scatter graph, find an estimate for the age of this baby.
...................................................... months
2)

(Total for Question 9 is 3 marks)
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10

11

12

Matt is drawing a scale diagram.
1 cm represents 5 m.
The real distance between two points is 20 m.

What is the distance between the two points on the scale diagram?

(Total for Question 10 is 1 mark)

Here are 6 numbers.

13 5 4 9 3 8

Work out the mean.

(Total for Question 11 is 2 marks)

Shah takes an exam.
The exam is out of 60 marks.

Shah needs to score at least 70% of the marks to pass the exam.
He scores 45 marks.

Show that Shah passes the exam.

(Total for Question 12 is 2 marks)
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13

14

Measure the size of the angle marked x.

(Total for Question 13 is 1 mark)

There are 200 counters in a bag.

38 counters are red.
52 counters are blue.

The rest of the counters are yellow or green.
There are the same number of yellow counters as green counters.

What percentage of the counters in the bag are yellow?

(Total for Question 14 is 4 marks)
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On the grid, draw an enlargement of the triangle with a scale factor of 3

(Total for Question 15 is 2 marks)

TOTAL FOR PAPER IS 30 MARKS
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WEEK 2 TASK 5




&

One Marker Starters

Includes Summer 2017 - Summer 2024 Exam Papers Pearson
Write down a 6 digit number that .

has 4 as its thousands digit. Write 72.88 correct to
You can only use the digit4 once | 1 significant figure

...............................................................................................................................................................................................................................................

Change 565 cm into metres Work out 2°

Write down a square number

that is also an odd number Write down the value of the 4 in

the number 542.3

...............................................................................................................................................................................................................................................

Write 3% as a fraction Simplify m+m +m + m

Here are the first 4 terms of a sequence Write down the name of this 3-D shape
1 4 9 14 -

Write down the next term and explain how you
i got your answer I




MARKSCHEMES



WEEK 2 TASK 1




&

Pearson

One Marker Starters

Includes Summer 2017 - Summer 2024 Exam Papers

...............................................................................................................................................................................................................................................

. . 3 3
Slmp|lfy m-+m Write 19.4949 correct to the nearest

2m’ whole number

19

...............................................................................................................................................................................................................................................

Write down the value of

the 2iin the number . Work out the square root of 81
12 345 P
9
2000

Simplify 3 xa x4

Complete the statement below
| | 12a

to make it correct

...............................................................................................................................................................................................................................................

Here are four digits:
Write down a f f 60 N
rite down a factor o Write down the smallest 4-digit even

that is between 8 and 14 number that can be made using each
number only once

10 or 12 3476

Change 40 centimetres
What is the time 2 hours 40 into millimetres
minutes after 8.05 am? »
400 mm

10.45 am



WEEK 2 TASK 2




Answer all questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

1 The pictogram shows information about the number of chocolate cakes, vanilla cakes
and lemon cakes sold by Year 7 at a school fair.

Chocolate / '\' / I\ / ]\ ./ \ / m O Key:
NVANVANVANVANVA. @
J

Vanilla @ @ @ Al 39 R Apresents 12 caes
Lemon @ @ 3 ‘\1 mark for

any of the

Banana @ @ 1 mark &L{\ totals

24 banana cakes were sold by Year 7

(a) Use this information to complete the pictogram.
(1)
At the fair, Year 8 sold a total of 150 cakes.
() Which Year sold most cakes at the fair, Year 7 or Year 8?
Y ou must show how you get your answer.

L0t A H18 24 = th | L mark
Final mark L&QQ) 3 aoid. the mMost 3)
Y

Must be supported (Total for Question 1 is 4 marks)

correct working
2 7 -5 3 9 -2
Write these numbers in order of size.
Start with the smallest number.

3 Write 35% as a decimal.

(Total for Question 3 is 1 mark)

Spring 2024 — Aiming for Grade 1
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Here is a grid of squares.

Or equivalent fraction
(decimals or
percentages not
What fraction of the grid is shaded? allowed)
__Q_ 1 mark

(Total for Question 4 is 1 mark)

Write the number three thousand one hundred and seven in figures.

310%F 1mark

(Total for Question 5 is 1 mark)

Here are the first four terms of a number sequence.
97 91 85 79

(a) Explain how to work out the next number of the sequence.

........ subirack..8.. Ao the. premoss term.... Lo .

e))
(b) Work out the difference between the 5th term and the 7th term of the sequence.
¢ 2 3 k S b 3
R N COR YD
qs-bttmek | |2.....Final mark
(2)

(Total for Question 6 is 3 marks)

Gabriel thinks of a number.

He multiplies his number by 5 and then adds 7
His answer is 72

What number did Gabriel think of?

! x5 +7F
tmark  gg:g  AR-A =S imark 13 Finalmark
= [8 (Total for Question 7 is 3 marks)
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8 The table shows the number of books read by four people in one month.

Person Number of books
Ximena 7

Martha 9

Kezia 1

Tabby 5

On the grid, draw a bar chart to show the information in the table.

3 marks for fully
Q- correct bar chart
81 Or 1 mark for
3 J correct scale or
name labels
E,_
Or 1 mark for at
5 least two correct
4 bars
3 -
zt
|—
[}

Xumeae Nofho Kezia Tab!(z&]

tal for Question 8 is 3 marks)

Spring 2024 — Aiming for Grade 1
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10

11

12

A travel agent sold 100 holidays in April.

Each of these holidays was in the UK or was abroad.
64 of the 100 holidays were sold to families.

The rest of the holidays were sold to couples.

11 of the 18 holidays abroad were sold to couples.
Use this information to complete the frequency tree.

/

N

EAST
— correct tree

abroad q \'

/
\

couples

)

AN

(Total for Question 9 is 3 marks)

.3
Write 10 as a percentage.

Simplify m + m +m + m

(Total for Question 11 is 1 mark)

Write down a number that is less than —5

1 mark for a valid
number less than -5

(Total for Question 12 is 1 mark)

Spring 2024 — Aiming for Grade 1
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3 marks for fully

2 marks for at
least four correct
values

1 mark for at
least one correct

value



13 Here is a 4-sided spinner.

Samina spins the spinner once.

Choose the word that best describes the probability that the spinner lands on a number less
than 4

impossible unlikely evens likely C certain)

(Total for Question 13 is 1 mark)

14 Wayne begins walking at 8 30 am.
He walks for 1 hour and 45 minutes.
Wayne then rests for 15 minutes.
He then walks for 85 minutes to a cafe.
Does Wayne get to the cafe before 12 noon?
Y ou must show how you get your answer.

%eams 8:30

\/\)w 47 I.gg ) 105 (Y\lr.)s 1 mark

Q,o.sb& 2 1S ming

Wodlks BS muno
&65 mns . 1 mark

05 muns = 6}’10!»(8 JLSmuns

8-20 + I S mins =) L1:6S5am  1mark
UeS he amues Leltre 1 ncon

(Total for Question 14 is 4 marks)

11

Final mark
Must be supported by
correct working
Spring 2024 — Aiming for Grade 1
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15  There are only red counters, blue counters and green counters in a bag.
number of red counters : number of blue counters : number of green counters =2 : 16 : 7
What fraction of the counters in the bag are green counters?

R:&6 : C ol =
. . —— 2 marks
S A QS

(Total for Question 15 is 2 marks)

TOTAL FOR PAPER IS 30 MARKS
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WEEK 2 TASK 3




&

Pearson

One Marker Starters

Includes Summer 2017 - Summer 2024 Exam Papers

...............................................................................................................................................................................................................................................

Write 0.73 as a percentage Change 0.32 kilograms

739 to grams
320 grams
Work out: 3 x5+7 Write % as a decimal

22 0.9

Write 1.59 correct to

. 0 1
Write 80% as a fraction 1 decimal place

80
100 1.6
or equivalent -

Write the following numbers in order of

size. Start with the smallest number S|mp||fy 3f x 5g

15fg

Write down.a square Write down the mathematical name for

10 and 50 \<
16, 25, 36 or 49 | Reflexangle <)




WEEK 2 TASK 4




Answer all questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

Max sees this special offer in a shop.

Buy one large plate and get one small plate for half the normal price.

The normal price of a large plate is £2
The normal price of a small plate is 80p

Max wants to buy 6 large plates and 6 small plates using this offer.
He has £15

Has Max got enough money?
Y ou must show how you get your answer.

Clage plates = K= 6
Eamallplons = 6 x AOP
™tel = Qe 4O = £1-40 1mark

Mox has eno(ﬁ}\ momzﬁ |40 £ 1S

(Total for Question 1 is 4 marks)

£ (Q 1 mark
AQ-10O 1 mark

u

n

Final mark
Must be supported by correct working

Spring 2024 — Aiming for Grade 2
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Write down the coordinates of the midpoint of 45. } 2 1 mark

(cerreereeeeee e OO0 SO )
(Total for Question 2 is 1 mark)

There are 3 litres of oil in a can.
Jermaine uses 700 millilitres of the oil.

Work out the amount of oil left in the can.
Give your answer in millilitres.

| Lupe = 1ICCOMQ
3lLbres 2000 MR 1 mark

3000 - 00 = 2360

1 mark

7

n

Final mark

....................... R3O .. millilitres

(Total for Question 3 is 3 marks)

Spring 2024 — Aiming for Grade 2
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4

(a) Work out the size of the angle marked x.
/x

AN -0 1 mark

2
A student says that an angle of 50° is an obtuse angle.
The student is wrong.
(b) Explain why. 1 mark
..50?....would...te...an..am..af@lp....nob.cbtwe, ....................
(0))

(Total for Question 4 is 3 marks)

Work out % of 300

300 +S

(Total for Question 5 is 1 mark)

Selina has a bag of 22 counters.

5 of the counters are blue.
9 of the counters are red.
8 of the counters are pink.

Selina takes at random a counter from the bag.

Write down the probability that Selina does not take a pink counter,

8 R P Toral
s Q

el
A4 1 mark

(Total for Question 6 is 1 mark)

of equualenkt

Spring 2024 — Aiming for Grade 2
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7 Here is a list of numbers.
2 4 4 7 8

Work out the range of these numbers.

8-2

(Total for Question 7 is 1 mark)

8 Simplify ISTa
1923 =S

(Total for Question 8 is 1 mark)

Spring 2024 — Aiming for Grade 2
© Pearson Education Ltd.



*9

The scatter graph shows information about the ages and weights of some babies.

10

Weight
(kg)

(=)

o

0 2 = 6 8 10 12
Age (months)

(a) Describe the relationship between the age and the weight of the babies.

Another baby has a weight of 5.8 kg

(b) Using the scatter graph, find an estimate for the age of this baby.
2 marks

amnge 1S allowed
[ 02 6 h) L[.' S ......................... [f-’ ....................... mon‘;lzli

(Total for Question 9 is 3 marks)

Spring 2024 — Aiming for Grade 2
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10 Matt is drawing a scale diagram.
1 cm represents 5 m.
The real distance between two points is 20 m.

What is the distance between the two points on the scale diagram?

lem = SYY\
LI AL
= Kem

(Total for Question 10 is 1 mark)

11  Here are 6 numbers.

13 5 4 9 3 8

Work out the mean.

12+S + 4 +A+3t8 = 42

1mark L4Q*+*6 =" = Final mark

(Total for Question 11 is 2 marks)

12  Shah takes an exam.
The exam is out of 60 marks.

Shah needs to score at least 70% of the marks to pass the exam.
He scores 45 marks.

Show that Shah passes the exam.

neals 7Whof &0 307 = 07
03 s 60 = 42 Final mark

1 mark

Shan posses lecvu K4S 7 42

(Total for Question 12 is 2 marks)

Spring 2024 — Aiming for Grade 2
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13 Measure the size of the angle marked x.

0ol ) (Total for Question 13 is 1 mark)

14  There are 200 counters in a bag.

38 counters are red.
52 counters are blue.

The rest of the counters are yellow or green.
There are the same number of yellow counters as green counters.

What percentage of the counters in the bag are yellow?

200
R b “ G
38 oL

Qo0 -946 1 mark
\A J
2% a— =110 —P

N +2 =SS 1 mark
SS sS

%O@Q@M is. X 106 1 mark

Final mark
L0 2
N V5 52 W %
Q3-S - 0215 (Total for Question 14 is 4 marks)

2[S's ‘0

Spring 2024 — Aiming for Grade 2
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2 marks if fully correct shape drawn

15 1 mark for correct base length or correct height if two marks not awarded

On the grid, draw an enlargement of the triangle with a scale factor of 3

(Total for Question 15 is 2 marks)

TOTAL FOR PAPER IS 30 MARKS

Spring 2024 — Aiming for Grade 2
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WEEK 2 TASK 5




&

One Marker Starters

Includes Summer 2017 - Summer 2024 Exam Papers Pearson
Write down a 6 digit number that .

has 4 as its thousands digit. Write 72.88 correct to
You can only use the digit4 once | | 1 significant figure

e.g. 104 000 70

...............................................................................................................................................................................................................................................

Change 565 cm into metres Work out 2°

5.65 metres 8

Write down a square number
that is also an odd number

e.g. 1,9, 25 etc.

Write down the value of the 4 in
the number 542.3

40

...............................................................................................................................................................................................................................................

Write 3% as a fraction Simplify m+m +m + m

100 4m

or equivalent

Here are the first 4 terms of a sequence Write down the name of this 3-D shape
1 4 9 14 -

Write down the next term and explain how you
i got your answer I

19
Add 5 to each term




